FIARE o 20101
2 A AN a01-04
HEABE o 201-01
A AN a01-04
CBRBE o 201-01
i) AN a01-05
AR e 30101




R®DLESS

- ER BT R o

- AJTERCEEEA o

- B mEERE -

- ARG G TH) -

- ATRER AT H H5EF 5 CE] 6000mm ©

L)

B 5 RLTO \ RLTF \ RLO \ RLF
el i 2! = ®10+16+~25+32+40+50+63
i F Ui g B~ RASHRNBRZTR (WEE - BHMEMT)
B K B 1 B 5N 7 kgf/cm?
& A R E # E -10°C~ +80°C ( FE#E)
I Sk
RLTO - G1 - 25 - 1000 - U S 0o - Y . - L
By | R4 | R | gR | B BB | 8® | mHEEm BE | x®
/ AR - 16: 916 B XINBR || S:iHE ||0:f@# Y IAZRKH | [1:1pc | |mEs: mus
RLTO |ACH 25: ©25 HRIETE ViViton || L:18&E ||1: R#EE| |K:AZRK | |2:2pcs| |L:HZE
‘ : 32: 032 Er—— U:PU .
P micgs, | | 400040 FETEE A A
RLTE = 50: ®50
‘ > gfﬁm&_ 63: ®63
L =ta XRLF 2388
/ “lo G2 : .a‘uﬁ}ii 25 ~ 40!
— ST
g
///RLF =
TR
* G2 128
RLO-25 ~ 40!
B - kg
EES ®16 ®25 ®32 ®40 ®50 ®63
EXEE 0.22 0.65 1.44 1.95 3.53 6.41
100 T2 E & 0.1 0.197 0.354 0.415 0.566 0.925
M8 &
REIZEH !
REIARE ERM B RE IR
AR GEE) a1 Pt R TR
Ui 2 A - AL ERIE
B 3 158 B
B NBR ( AJ$2## Viton )
FrEEZE @ FhEEI 2E¥

@ 01-01



HEREE REDLESS

B - (ER A%

_LfﬁIEI’J EIFRTER

- AJREFNES « ERAFN%E -
- REIRImIE@ERES ©
0@ EENTIERZEIEWEENE EMMBEEEERE (RIEFERINEES @ a0 HEEESE) -
@ THERRBZHEEEAKES « BRIREFNRAE @ BMFEEEREIEEE I T ERBAREAZEIE -
Q@ ERRNBEEIBLLV <05 m/sFEAEE

EFEHMMRERNE  BEEHINERNRES - EREENNEEZELR -

M=F - r SERDEEGMISERORBETE - FIRERN0 -

R ®16 ®25 ®32 ®40 ®50 ®63
P51 711 6bar[N] 120 295 483 754 1178 1870
EXIER A F, 1£ 6bar[N] 78 250 420 640 1000 1550
M [Nm] 4 15 30 60 115 200
AR Ms [Nm] 0.45 1.5 3 6 10 12
Mv [Nm] 0.5 3 5 8 15 24
AR LIN] 120 300 450 750 1200 1650
EERE [mm] 17 30 35 45

% @7 Bl 2=

m/s
S EHIBRERE R - HEE w1
BIMERS BATT AR - SATREVEAE ®
MOEENER - HHAERNE P BRGNS
A K 5 N \\‘\\Q&
& No, [N \0\\}\\\
BRI R R 20 & RO
MR TI9RE « ESRERAN "o NN TR
REMEMRE - AR ATEHBH TEH 04 NNEANA NN
6 ERIMMEESES - & 03 NN RS
* (B INE MBS - B g
FAREL I EBAR IR i 0.10.1 0203051 23 510 100 1000 kg >
BXEEHNEER

R EAR S FIZN RO REL - FARSIEREFIEME R E EEEES -

@ 01-02



R®DLESS

| ¥

BB R AT A A - Fh ji=—-0 4 I %
U 1 AR T TIE R B E . k | .k k
BREEER - BREPEAE
AT RATEESIHM™E  EXE2 N
FlEﬁ ’ E-ﬁjc 0.5mm E"J@HEIEEﬁELFE"J ° 500
S 4 2 MR TE TR R IR D32
H  BESHFE AT o \
400

o \\
200

D16 \
D

asHL

\ >
05 10 15 20 25m
") Bt k
2600
2400
2200
2000
1800 —p o3
1600
#1400
W p00 220 \\
1000 \ \
800 |—D 40 \ \\
600 N
N N
400 TN N
200 I~ ——
T — ‘
02 04 06 08 1 12 1.4 16 18 2 22 24 26 2.8 30 32 34 36m
PEEE k
Y2 E 1
| |
o
ERHITTR RSB - PEMUER A LER - &# 3 .
SHEFI 3/2 R BRI R - TR £k A

73R L3RI RERE

@ 01-03



EIZREI REODLESS

RLTO EARREL / SR * 7] BREERTRERE » ATESE 6000mm o
ORTE 25 41
33
175 117
19 9 109
L |
) N 8
© @ o 10
= e o
SIRY - [1AR) @
Q) o
M5x15 . 23
27 200 +17%2
M5 50
N\
@ A\ D
00 é}— -0 001
@ o,
@5 E1TTE
100 1772 100
RLTF EAEREL / JMYRST * 0] HRREBITERE » HATHELSE 6000mm o
QN ¢ 25 33 16 17
59 e Q@)
Q €
325 N Viaxis 25 25
415 200 + 17#2
65
D < & D
[00 Q eXell
0 - i
@ 5 E1THZ o
100 1752 100
[ [] i 1l
@ 0 \
- ‘ QY § )
|

@ 01-04



®
RE@DLESS HEAF B EL
HEIE  REEREL / SMURS * A BEREFTRERE - &RATERE 6000mm e
OIS 032 " e
19.5 -\
[8ge| % = I
) @
@ \y QJ ;
23/ ) 9
) @ b4 A
L\ﬁ S
40
s \ws - 250 + {7#2
M6 90
N\
N\
- =
:|:011 L1 ymmipy
== %
@5 ETTIZ
125 1112 125
(] [] [l 1l
\ \
@r i i @)
RLO TREERURL / SMRRSE * A HHEETIERE - &ATEERG 6000mm °
31
OAE ¢ 10
© ® 1© ©
o Og —¢— —¢— N gO o
© & @ @
19
60
16 I y
| |
:3
o+ 1o
12 * 6
11.6
89 + 782
@B T2
445 1752 L 445

©o 00 (L':_@_o""_o_@l

©r
©

@ 01-05



EIZREI REODLESS

ORE ¢ 16

REOR (RAERRL / SMURST

* A] HHEETIRRE - RATEEE 6000mm °

36

@/ EETTHE

~ - )
N2 = ro)
%
@ | ® -
¢ §+E s
M4xTL
30 10.8
2 55 69
-
~
6__ 6
V", O N <
) © el §
R
gl @ —
s
\EE o
18 \—M3st MB5x08 1
130 + 1772
65 R 65

_@D._____________________________'_ ________ —1®o)-

ORE ¢ 16

RLO-GT RLO FfHE/BEERRIES# / JMEURST

130 + 17%2

15 69 15

© ©)
g (©] O) @

55.2

31

Q

M5x0.8

—_—rT A

M3x0.5-6H

25.2
40.2

&@ Btig,

@ 01-06




R®DLESS

FEREAT / SV R * ] B ERRIBATRR RIS - SATHEREHA 6000mm o
O1E ¢ 25
1 17.5
33 9 17

A

©
©)
52.5
2.2
31

27
]

il
A4 \
B n -
215
3.6
\
\

4

Mb5x15

G1/8 200 + 1742

65

00 00

25

o1

MB5x8L

100 1172 100

@5 172 rT ™
Ll [] L

O ©

RLO-G1 RLO BEBEERRIEEH / FMURSS * A EREFTERE - &RATEEE 6000mm °
ORHE 25

02 O] [ O
200 + 1742
23 17 23
1 I
® O)
® o 3
© ©
643 1005
33 o
ol | I ™
slel ¥ | s @600 @@wl
©
DO ke disaat= "
! A ﬁ e ON
e Pea £
4-MBx15L | 233 6-M6x1-6H 40
85
100.5
AR
AR D @}
Iy

182

@ 01-07



EIZREI REODLESS

SHEOECVA) RLOMi=BERMEES / JMIR T * 0] BERBITREEE - RATEEE 6000mm o
OAE ¢ 25
© (©))
@ | ©®
F_I _ﬁ
© ©
|= 100.5 |
23 23
l———l L 1
© O @ e 85 -
& & o —— ®o%0 @9 ol
N o © &0 @ © @ & —o o——0 4=
— C 4 269 - @4)@@{)3 A
4-M5x08—) — \
/ 21 40 \_
PF 1/8 21.9 2 70 Q PF 1/8
3 2 S~ 10-M6x1

200 +17%2

@ 01-08



R®DLESS

[ RLO == FWE TS, * ] B ERRIBATRR RIS - SOATHEREHA 6000mm o
QAR ¢ 32
52 205
3% S 152
ICol l |
O=HQ |- 8
P é @ 8 TN {Pf\\
o L1 ©
@) w
V6150 275
G 1/4 250 + 1712
%
@ ©
:IIII (Y- 1P
8 ®
M6
@5 E1TIZ
125 1712 125

0 I N
Pen ()] [() N
©) ©

RLO-G1 RLO BHEB AR 1B, / FMIRF * A HHREEFETERE » &ATHEEE 6000mm o

@R ¢ 32

@, &

e}
i oo [
= l 0/
250 +1772
275 152 215
] )
ﬁ:e © @ G:Em
s (©) @) °
180
76.1 10-M6x1deep12 409 deep 2.1

91

000
©; @}@ @ﬁ@)

VBl e

A

@ 01-09



EIZREI REODLESS

MEORCPAY RLO KIS /BEEARIEEE, / NIRRT * JEREFTERE - &RATEEE 6000mm °

@ATE ¢ 32
&
] ° ° |
| |
250 + 1772
275 152 275
IT©@ @ |°
e @_ @ o
180
86.1 10-M6x1 deep 12
—\ /— 4-¢9 deep 2.1
g 000 {$
i @ ® @ @
%l: @@2 i 2 =P A
- \Z
'@ ‘@PT_J ] % ©©© @ $ ©©© o | ¥
T |7 &5 {r &5

160

o —O

@01-10



R®DLESS

SRS / Rl + B IR TIZ R © BATHERBIE 6000mm ©
152
QAR ¢ 40 %
E < =
N\
4-M6x1
L I
) )
o &=
/ N G1/4
G1/4
12 5
Zg A\ 4-MBx15 30 Non
300 + 1712
@5 EE1TIZ
150 Stroke 150
[ I 1]
@] ®)
il = ©
SEOECA) RLO M= iBEEigitEs) / SR * I HHEETRERE » RATEEE 6000mm ©
l |
QAT ¢ 40
( |
=N | O
300 + 7752
30 152 30
© ©
| o o |1
e — — SIS ——
© © I
110 231
, [+ +———+ 1+
§'[©@©. 8 @;@@ ©ﬁ©;Q’
] ! I
'@ @ PF1/4/ @ o © |0
54 s he s -

M6x1 deep 12

© ©

@01-11



®

mA2RES REDLESS

RLF SAERUEL / SRS * A BREFETRERE - &ATHEREE 6000mm o
OATE ¢ 25 3 17
19 109
1 16
@® | @®
©) GE\ 3
©®) @ G1/8/
325 | N\ 25 25
% 200 + 7752
N5 50
N
\
\
[-X-) *'&i}'* —0O— 00]
: D
@B EETIZ
100 iR 100
| | |
@ %)
g
RLF-G1 RLF BHEB ARG S / FMYRST * | ERERETRERE » RATEEE 6000mm °
OATE ¢ 25
o0 &) .
L o ° |
=l [ O
200+ 1312
% 17 2
©@ ©
(©) ©
= © @
1005
%, ——
o P 600 %@@
> @
ﬁ@ ° 9%
N
& « %,

) l%

%

@01-12



®
READLESS AR SR BR L
RLF BAEREL / JMERST * A BHRERTIERE » AT HESEE 6000mm o
OE 32 . .
19 125
19 22‘154
il@ ] Y
a o
)
] 40 31 31
54 M5 250 + 17%2
MBX7 100
30
\
\
:I}II % > > > IIQ:I:
Q!
@5 E1TIZ
125 Stroke 125
i 1 I
@ ©
S}
RLF-G1 RLF BHEIE AR 18, / MRS * A BHERTIERE » &ATHESEE 6000mm o
QAR ¢ 32
250+ 17#2
31 152 31
o © ©)
o0 vo
@ @)
H
180
7.7
10-M6x1 _deep 12-\\ . I,—4-<I>9I deep 2.1
[G1/4 & ¥ o & S ) 0 %
‘ © e & © @
| QR M‘] @ © @ [[l Gl/4
Ad ﬁ} A4 < ® M5
I 80
160
G1/4—"]

@01-13



EIZREI REODLESS

AT / SRS + 7] ERIBTIRRE - |ATHELBIB 6000mm -
OATE ¢ 40
2,
&
&
& )
>9- @ Ros @ o] S8
& &

40

130

171

[SXOKC)
8 © © o AN R
D | D N~ Wl \\J4/
N e | ® @ &
© Or< |¢v N
N 7=
@ 12 12
A = =
49 & 30 30
300+ 17#2
69
@ 5ETZ
150 Stroke 150
T ~/

@01-14



R®DLESS RLO fgft
SFEE 25 ~ 32

EfEAINBBEE - TITRESEIEEMMILE - RER U B3R %S ER

% fEERENSAL o SRR/ TR i 2
- B IR A ; e
. EERAMN S (,Cﬁﬁoqjﬂ
. F—iER P |

. 7J(:F-ﬁﬂ e
B A A S 2 o '

RLO-U R =Fai-ytd ) WA w:IaNa * | BEEETRERE - &ATEREE 6000mm °

@R ¢ 25

51.4 ~ 54

AN SN T
&/ N>
RLO-U RIS T ENEE / JMNIR T * A BEEETRERE - AT EREE 6000mm o
QR ¢ 32
76 . , 168
%5 o 75 465
geEx CIN 1T T
0 I ANy gy
¥ 9 =
@) [ @) ol
Y N ® 9
> \m ﬂ)’\
A @) N3 &
\Qyu )

@01-15



RLOfEH RODLESS

HEOHUR Standard type with Clevis mounting/ Dimensional features * Free choice of stroke length up to 6000mm.
® 40
168
Q)
1T I I—!I[4_¢ 65
o ¥ - ;§ - ¥
. | m NS/ |
©) &)
© o ¥
LR e TRETE 16~ 63
BRUERT/ HEZEAT R
@HE ¢ 16~ 32
. l @D | @ ——
o —f == %
SRR AR AL ] L@ 4 b %
RERBE L FILIIERFLA N N |
BEANDT MR RERMEDS Ak | AC
JEEREEEEM A EE B RIRE - - —
O - DG D
M
RLO ¢16 ~ ¢ 32 37l BT/ 2R C1 B
BN Q@A $40~63
RLO ¢ 40 ~ ¢ 63 %
(iR ——
alJ
SRR - @
|
s HE
AG |
- AD —
R~ &
o sTRESR (—4H)
\ﬁ\ E oU AB AC AD AE AF CL DG 016~ ©32] 040~ 063
16 18 3.6 18 10 14 125 15 1.6 26 20408 —
25 27 5.8 27 16 22 18 22 2.5 39 2010 —
»32 36 6.6 36 18 26 20 30 3 50 3010 —
40 54 9 30 125 24 24 38 - 68 - 4010
50 70 9 40 125 24 30 48 — 86 — 5010
D63 78 11 48 15 30 40 57 — 104 — 6010

@01-16



R®DLESS

A8

all i RLM

E &I A = ®10+~16+25
{Ed B Ui S EE -~ RESEENEEZTR (NFEE - EMEN)
1E &) i N wEh
= B B AhH & ¢ 10 : 2.5 ~ 7 kgf/cm? ¢ 1625 : 1.5 ~ 8 kgf/cm?
ifit [&Z H ®10: 105 kgf/cm? ®16+25: 12 kgf/cm?
= B &’ E & [E 0°C~ +60°C ( A E#E)
= B F E & E ® 10 : 150 ~ 1000(2000)%2 mm/s ¢ 16 ~ 25 : 100 ~ 1000(2000)*2 mm/s
fic = % | ®10~ 16 : M5x0.8 ®25:Rc 1/8
RS EEITIE A 8UETTER
®10 150 ~ 200 * 250 ~ 300 30 ~ 600
16 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 50 ~ 800
25 200 ~ 250 ~ 300 ~ 350 ~ 400 ~ 500 50 ~ 800
* BHAYSEE PRI - A] BEARHRE o
HE: i
RLM - 10 - 1000 - X S 0 - Y 1
| | | | | | | |
B 5 R EES 175 B2 || EE FE1E BERRE | | B2
[ [ [ [ [ [ [ [
/ 10: 010 | 4kf7%8% | |X:NBR |S: ¥¥& :%5@5 Y 1 AZRKH | |1: 118
RLTO 16: 016 HES Vi Viton | |L IEE | |1 RIEE K:AZRK ||2:21&
25 ®25 U:PU
NI E=REAES _
/B M=F Xrl
Ms =Fs X r2
F “—>>
Fs «<—
= N
Mv =Fv Xr3 W1
|
—
l I
w2 l
w3
. e M Ms Mv W1 W2 W3
RS N - m(kgf = m) | N = m(kgf = m) | N = m(kgf - m) kg kg kg
RLM-10 6 (0.6) 5 (0.5) 5 (0.5) 13
RLM-16 6 (0.6) 5 (0.5) 5 (0.5) 13
RLM-25 26 (2.6) 25 (2.5) 25 (2.5) 30

@01-17



EIZREI REODLESS

SEVES SRS / RERIEL * 1772 100mm LUF > & RER 10mm o
* 1772 100mm( & 100mm) Ll E » EERER 16mm e

ORI ¢ 16
5 o
J K
B, 1, Nos 70 S . & i_;
L, s 30 6101 S
Ris £0. i M10x1
/
8 © | 5§\© 67 ©9 et C
o -t ! \
@0 ©0 3 ©
© . @ ©
®| o | @1 N
- \@> @1%
134+17%2 . 155
‘f‘o i
151.5+ 1742 Ny 23
"*zc?
8| ¢ —Te |+
Bl @ @\MS/\' o4 ¢4
% — B S
+ +
8.75 134+1772 8.75 p—
SNBIRSH / BT #1782 100mm WU » $EEEEA 10mm o
* 1742 100mm( & 100mm) Lk > BEREE A 16mm °
OHE 25 9
BK
¢<{Za% &446 123 3
2 7 26 8 b 2 415
x3 ; 1l
d &= iy
CRE 2 o o & lo ©)
8" 119 k4 . %
=1 0
P oy o 3 o0,
— ]4
S | — | R | - &
S @ Y[ g 5
o i ol
'\0?‘) l

8 2045 +1712 i
222 +17%2

204.5 +17%2 7# 4# 4}

N 167 +4742

@01-18



R®DLESS

AR

it} i RLW
) Fil A g (o) 2x16 ~ 2x25 ~ 2x32 ~ 2x40
f& == P 8 BB~ RIHBNEREER (NER  BEMEN)
= B &’ E & B 0°C~ +60°C ( )
HE: R
RLW - 25 — 1000 U S 0o - Y 1
| | | | | | | |
Al 2B RS 1772 2| i fEfE ER R =3
[ [ [ - [ [ [ [ [
— 16:2x16| | KEK | X :NBR || s:mE (|0 Y 1 AZRKH | |11 Tpc
TRLW 25:2x25) | WBIATE | |v:vion|| L:18E ||1:E#E@| |K:AZRK ||2:2pcs
32:2x32 * BATIEE U:PU X016« 25 1@
40: 2x40 3600mm @A AZRKH |
Ba& -~ FERAOFMANEE
on e ST Ak = A%R =ANE
< WREANIN] | EERE =
AR o 15 6 bar [rm] Bending Moment [Nm] Torque [Nm] Load [N]
M MS MV |_
2x16 185 20 8 3 1 240
2x25 480 35 30 10 6 600
2x32 850 41 60 20 10 900

Values are based on light shock free duty and should not be exceeded during piston acceleration.

Side bending moments should be avoided.

Operation pressure max. 8 bar.

@01-19



EIZREI REODLESS

REEREL / FMRURSE * A BREFTERE - &RAHEREE 3600 mm °
(ERAVTIZIKFE RIFHIFTR)

445*0.&
Q-
5’%/0 45
Y — o ¥ o ¥
5 ® & & ® 5 “;?5
o=t ° o ° [T
140+ 1712
69

M5xo s - - y

150+ 17%2

@5 EE1THZ

16 75

=10
1772

@ 01-20



®
REDLESS AR SRR EL
AR / SR A E BT - BATHEEE 3600 mm -
(ERETRIKERIERIETR)
@ 2x25
90
Y%,
%%70 34
1T _?_@ =
T2 | o ol =7
b @ o -6 @ 5 §§
et t,
. ) o, -
215 +17%2
230 + 1772
117
- LI LI
500 [000® i | |
© ©p @ © N = @ @
S _ _
@ ®oe® © - ~<
S 2 © 14
ey e
102 /
15 15

230 + 1772

@5 TH2

115 1772 115

@ 01-21



EIZREI REODLESS

EAEREL / JMIRST * 7] BEEERTIERE  RATELER 3600 mm
(BERAVITIZIRE KUSRIETEY)
Y., 152
W 110
&[] @\ © NEPN
O P ® 9P
K 4 |+ + || 7EE
G- °©° , °© iy
() ()
265 + 1772 s
4= g’/%b
280+ 1772 +<§»O«<(9/5
&%
109 152 &
ec I I
@0 0| (©0@ o o
© ©pe©@ ©) o
@ 099 ©
| <
15 227+ 1778 15
280+ 1752
@ 5172
140 17%2 . 140
O O il w T ~ -
L |
o o E_ e e _E

@ 01-22



®
REDLESS AR SRR EL
AR / SR A E BT - BATHEEE 3600 mm -
(ERAITREBRIHETR)
@ 2x40
205
60 60
@ 9 |
AL @ © ©
a4 bl © V1 | ©
bl e | =00 T
o S © ©
T @ @ @
93.5 320 + 1712
| ] ]
PF1/4 1
276 + 17%=2
300 + 17%2
340 + 1742
@B AE(TiZ
170 1712 - 170
| O ] | [""""T_. """""""" oottt ]
I I S R i
) Ven
7 7

@ 01-23



